Start

Who has sin (g)"

| have \/2_§

Who has cos (37”)?

| have — Q.

Who has tan g?

| have V3.

Who has log;3(1)?

| have O.

Who has logs(25)?

| have 2.

Who has sin (%ﬂ)?

-1
| have —.
2

Who has ln e?

| have 1.

Who has tan (5?”)?

| have — \;_g

Who has log,(8)?

| have 3.

Who has log,5(5)?




1 e
| have > | have -
Who has cos (7_”)? Who has cos (197)?

6

| have -1. | have 3.

6
Who has logs (%)7 Who has In (e®)?

| have 6. | have sec?x.

Who has 1 + tan?x? Who has sin(2x)?

| have 2sin x cos x. | have —/3.
Who has tan (5?”)7 Who has 1 + cot?x?
| have csc?x. | have 5.
Who has log,(32)? Who has cos (2x)?

i i




| have cos?x — sin?x.

Who has Sinx?

Cos x

.

| have tan x.

Who has the log,(—4)?

.

| have an undefined value.

Who has the period of the sine
function?

.

| have 2.

Who has the reciprocal of sin x?

"

| have csc x.

Who has log, G)?

| have -2.

Who has the period of the tangent
function?

.

| have m.

Who has sin (37")?

| have \/Z—E

Who has logs (57)?

.

| have 7.

1
cos x

Who has ?

| have sec x.

End.




